Problem Solutions — Chapter 2
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a) Prime = XZ, WX, XZ, WZ
Essential = XZ,)_(Z

¢) Prime = AB, AC, AD, BC, BD, CD
Essential = AC,BE', BD

b) Prime = CD, AC, BD, ABD, BC
Essential = AC, EB,ZBD

2-22.*

a) s.op. CD+AC+BD

p.o.s. (C+D)(A+D)(4+B+C)

¢) s.0.p. BD+ABD +(ABC or ACD)
p.0.s. (4 +B)(B+D)(B+C+D)

b) s.o.p. AC+BD+AD
p.0.s. (C+D)(A+D)(A+B+C)
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Primes = AB,AC,BC,;U_BE’
Essential = AB,AC, BC
F=AB+AC+BC
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Primes = ;IB, C, 45, BD
Essential = C,AD
F = C+AD + (BD or AB)

Primes = XZ,XZ, WXY, WXY, WYZ, WYZ
Essential = XZ
F = XZ+ WXY+ WXY

2-30."

XY = XY+XY

Dual (X ® Y) = Dual (XY + XY)
= X+ DX +Y)

= XY+ XY

= XY+ XY
=X®Y
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